
Operations with Radicals
Multiplication Property of Radicals: n
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1. Multiply the radicals. Always simplify when you can.
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2. Notice that
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a)2 = a when a ≥ 0. We can even extend this

to any real root, by saying, If n
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a is a real number, then ( n
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a)n = a. Using this idea, try the following, and

again, always simplify when possible.

(
√

3 + 2
√

10)(4
√

3−
√

10) (4
√

13xy)2 (
√
x− 1)2



Problem 2 continued..
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Multiplying Radicals with Different Indices. So far we have been multiplying radicals of the same
type, like both being square roots, or both being cube roots, etc. Remember, we can write radicals as
fractional exponents. We will use this idea to multiply radicals of different indices.
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Now you try:
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